— ¥R 01-1 -
FFH5EM 01-1 (  /10) ( Z) )

WD 2 WL A I FERR L7 S0,

(1) y=2%—4z+7 (2) y =2+ 10z + 20
(3) y =22+ 10z + 29 (4) y =22+ 8z + 16
(5) y = 2?4 10z + 30 (6) y=12%—8x+15
(1) y=2%+ 6z +13 (8) y=a2*+6z+5

9) y=2>+42+7 (10) y = 2% + 2x

— 13th-note —



EA5ER 01-1

WD 2 WL A I FERR L7 S0,

(1) y=2%—4z+7

y=(zx—2)"+3

(3) y =22+ 10z + 29

y=(x+5)"+4

(5) y = 2?4 10z + 30

y=(x+5)*+5

(1) y=2%+ 6z +13

y=(z+3)*+4

9) y=2>+42+7

y=(z+2)°+3

— FAER 01-1 —
( /10) (

(2) y =22+ 10z + 20

y=(x+5)°*-5

(4) y = 2%+ 8z + 16

y = (z+4)

(6) y=12%—8x+15

y=(x—4)° -1

(8) y=a2*+6z+5

y=(z+3)"—4

(10) y = 2% + 2x

y=(x+1)° -1

— 13th-note —

)



— FH5ER 01-2 -
5 01-2 (  /10) ( Z) )

WD 2 WL A I FERR L7 S0,

(1) y=22—4z+9 (2) y =22 -8z +19
(3) y=22—6z+4 (4) y =22 — 10z + 20
(5) y=a®+2x+6 6) y=2>—4z+3
(7) y=a*—6z+38 8) y=2*—-2z—1
9) y=2%—4z -1 (10) y = 22 + 10z + 22

— 13th-note —



EAHERK 01-2

WD 2 WL A I FERR L7 S0,

(1) y=2%—4z+9

y=(zx—2)*+5

(3) y=2%—6z+4

y=(z—3)"-5

(5) y=a2*+22+6

y=(x+1)*+5

(7) y=2*—6z+38

y=(r—3)?2—-1

9) y=2%—4z -1

y=(x—-2)°"-5

— FEAER 01-2 —
( /10) ( 5

(2) y=2%—-8x+19

y=(z—4)°"+3

(4) y = 2% — 10z + 20

y=(z—5)-5

6) y=2>—4z+3

y=(zx—2)°-1

) y=a?—-2z-1

y=(r—1)2-2

(10) y = 2% + 10x + 22

y=(x+5)°—-3

— 13th-note —

)



— ¥R 01-3 -
F5ER 01-3 (  /10) ( Z) )

WD 2 WL A I FERR L7 S0,

(1) y=2%—4z (2) y=22+8zx +15
(3) y=a22+2z+4 (4) y=22—6z+9
(5) y=2*>—-2z—1 (6) y=a?—8zx+15
(1) y=2%—4z -1 (8) y=a?—8zx +12
9) y=2a2%+8x+17 (10) y = 2% — 8z + 21

— 13th-note —



EAH5ERK 01-3

WD 2 WL A I FERR L7 S0,

(1) y =2 — 4z

y=(z—2)"—4

(3) y=2*+2z+4

y=(x+1)°+3

(5) y=a?—-2z-1

y=(zr—1)" -2

(1) y=a?—4z -1

y=(x—2)2 -5

9) y=2%+8x+17

y=(z+4)?*+1

— FEAER 01-3 —
( /10) ( 5

(2) y=22+8x+15

y=(z+4)?*—-1

(4) y=2*>—-6z+9

y = (v —3)°

(6) y=12%—8x+15

y=(x—4)° -1

(8) y=122—8zx+12

y=(r—4)?? -4

(10) y = 2% — 8z + 21

y=(x—4)°+5

— 13th-note —

)



— ¥R 01-4 —
FFI5ER 01-4 (  /10) ( Z) )

WD 2 WL A I FERR L7 S0,

(1) y=2*+8x+15 (2) y=22+6z+6
(3) y = 2% — 10x + 27 (4) y=12%+ 62+ 13
(5) y=a?+ 6z + 11 (6) y=a?+10x 427
(1) y=a?-2z (8) y=a?+2z—2
(9) y =2+ 10z + 29 (10) y=2?+42+9

— 13th-note —



EAH5ERK 01-4

WD 2 WL A I FERR L7 S0,

(1) y=22+8x+15

y=(z+4)?*—-1

(3) y = 2% — 10x + 27

y=(x—5)°+2

(5) y =2?+ 6z + 11

y=(z+3)*+2

(1) y=2a>—2z

y=(r—1)2-1

(9) y =22+ 10z + 29

y=(z+5)*+4

— ¥R 01-4 —

( /10 (

(2) y=22+6z+6

y=(x+3)°-3

(4) y =2+ 62 + 13

y=(zx+3)"+4

(6) y =2+ 10z + 27

y = (¢ +5)*+2

(8) y=a?+2z —2

y=(x+1)°-3

(10) y =22 +42+9

y=(z+2)*+5

— 13th-note —

)



— FH5ER 01-5 —
Fh5EM 01-5 (  /10) ( Z) )

WD 2 WL A I FERR L7 S0,

(1) y=2%+8x +12 (2) y=2%+8z+20
(3) y=a2+ 4z +2 (4) y = 2%+ 10z + 30
(5) y=2?—6z+4 6) y=2?+4zx+6
(7) y =x2? — 6z + 10 (8) y=a?+4z -1
9) y=22+2z+3 (10) y =22 — 22+ 3

— 13th-note —



EAHERK 01-5

WD 2 WL A I FERR L7 S0,

(1) y=2%+8x +12

y=(z+4)*—4

(3) y=a2*+4z+2

y=(zr+2)°*—2

(5) y=12*—6z+4

y=(x—3)*-5

(7) y=a%—62+10

y=(r—3)2%+1

9) y=22+22+3

y=(z+1)*+2

— FH5ER 01-5 —

( /10 (

(2) y=2%+8z+20

y=(v+4)°+4

(4) y = 2?4+ 10z + 30

y=(z+5)*+5

(6) y=a2?+4z+6

y=(z+2)*+2

8) y=a?+4z -1

y=(z+2)" -5

(10) y =22 — 22+ 3

y=(zx—-1)°"+2

— 13th-note —

)



— F75ERK 01-6 —
FF5ER 01-6 (  /10) ( Z) )

WD 2 WL A I FERR L7 S0,

(1) y=2%+22—4 (2) y =22 — 10z + 30
(3) y=2>—-8z+14 (4) y=a%+2z+4
(5) y =x? — 10z + 26 (6) y=2?—6z+5
(1) y=a?—6z+7 (8) y=a?+2z —2
(9) y=a%+ 10z + 24 (10) y = 2> — 62 + 4

— 13th-note —



— F75ERK 01-6 —
FF5ER 01-6 (  /10) ( 7

WD 2 WL A I FERR L7 S0,

(1) y=2%+22—4 (2) y =22 — 10z + 30
y=(x+1)*-5 y=(r—5)"+5
(3) y=2?—8z+ 14 (4) y=2*+2z+4
y=(a— 472 y=(a+1)7+3
(5) y = 2% — 10x + 26 6) y=2>—6z+5
y=(x—5)>2+1 y=(x—3)*—4
() y=a2*—6z+7 8) y=a%+2z—2
y=(z—3)—2 y=(z+1)°—3
(9) y = 2% + 102 + 24 (10) y = 2% — 6x + 4
y=(x+5)?%—-1 y=(x—3?2-5

— 13th-note —

)



- FHREAOLT -
THRAH 01-7 (/10 SR )

WD 2 WL A I FERR L7 S0,

(1) y = 2% —10x + 23 (2) y=22+4z -1

(3) y=1a? — 4z (4) y=2? -8z +17
(5) y=2*—-2z -3 6) y=2>—6z+9

(7) y = 2?4+ 10z + 26 (8) y =+ 6z + 13
9) y=2>+8x+15 (10) y = 2% — 2x

— 13th-note —



FHEM 01-7

WD 2 WL A I FERR L7 S0,

(1) y =22 — 102 + 23

y=(zx—5)%—-2

(5) y=2*—-2z -3

y=(x—1)°—4

(7) y = 2?4+ 10z + 26

y=(z+5)*+1

(9) y=22+8x+15

y=(x+4)° -1

- FHREAOLT -

( /10 (

(2) y=a%+4z -1

y=(x+2)?*-5

(4) y=12% -8z +17

y=(z—4)*+1

6) y=2>—6z+9

y = (x — 3)?

(8) y=12%+6z+13

y=(z+3)*+4

(10) y = 2% — 2x

y=(x-1)°"-1

— 13th-note —

)



— ¥R 01-8 —
FF5ER 01-8 (  /10) ( Z) )

WD 2 WL A I FERR L7 S0,

(1) y=2% -8z +16 (2) y=22+4x+5
(3) y=2%—10x + 26 (4) y=2%+8x +17
(5) y=a? -8z +17 6) y=a2?—4a+7
(7) y=a—4z +2 8) y=a2*+4z+1
(9) y=2%—10x + 23 (10) y = 22 + 10z + 21

— 13th-note —



EAH5ERK 01-8

WD 2 WL A I FERR L7 S0,

(1) y=2%—8x +16

y = (v—4)°

(3) y=2%—10x + 26

y=(z—-5)7%+1

(5) y=2%—8x+17

y=(zx—-4)?+1

(7) y=a—4z +2

y=(xr—2) -2

(9) y =22 —10x + 23

y=(z—5)" -2

— ¥R 01-8 —

( /10 (

(2) y=2%+4z+5

y=(r+2)"+1

(4) y=2? 48z +17

y=(r+4)7°+1

6) y=a2>—4z+7

y=(r—2)*+3

8) y=a2*+4z+1

y=(z+2)°"-3

(10) y = 2% + 10x + 21

y=(x+5)°—4

— 13th-note —

)



— F75ER 01-9 -
FF5ER 01-9 (  /10) ( Z) )

WD 2 WL A I FERR L7 S0,

(1) y=2%—4z+7 (2) y=22+6x+7
(3) y=2%—8x+17 (4) y = 2?4+ 10z + 26
(5) y=12%—6z+13 6) y=2>—22+6
(7) y=a*—2z+2 (8) y =x? — 10z + 29
(9) y=2%—62+10 (10) y = 2% —4x — 1

— 13th-note —



EAH5ERK 01-9

WD 2 WL A I FERR L7 S0,

(1) y=2%—4z+7

y=(zx—2)"+3

(3) y=2%—8x+17

y=(z—4)*+1

(5) y=12%—6z+13

y=(zx—3)*+4

(7) y=a*—2z+2

y=(r—1)%2+1

(9) y =22 —62+10

y=(x—-3)"+1

— F75ER 01-9 -

( /10 (

(2) y=22+6x+7

y=(zx+3)* -2

(4) y = 2?4+ 10z + 26

y=(r+5)°+1

6) y=2>—22+6

y=(x—-1)*+5

(8) y=x% —10x + 29

y=(r—5)?2+4

— 13th-note —

)



~ ¥R 01-10 -
TH5ER 01-10 (  /10) ( Z) )

WD 2 WL A I FERR L7 S0,

(1) y=2*+8x+15 (2) y=2%2-22-3
(3) y=a?+ 4z +8 (4) y=2*—4z+3
(5) y=a®+2x+5 6) y=12%—2z

(7) y = 2?4+ 10z + 28 8) y=a?+4z+6
9) y=22—-22+5 (10) y =a2% —4x +7

— 13th-note —



~ EA5ER 01-10 —

AR 01-10 (/10 (

WD 2 WL A I FERR L7 S0,

(1) y=22+8x+15

y=(z+4)?*—-1

(3) y=2*+4z+38

y=(r+2)"+4

(5) y=a2?+2z+5

y=(r+1)°+4

(7) y = 2?4+ 10z + 28

y=(z+5)7*+3

9) y=22—-22+5

y=(x—-1)°"+4

(2) y=2%2-22-3

(4) y=a2> -4z +3

y=(r—-2)0°-1

6) y=12%—2z

y=(zx—-1)°-1

(8) y=a?+4z+6

y=(z+2)*+2

(10) y =a2% —4x +7

y=(r—2)"+3

— 13th-note —

)



